
06/19 

(Document reserved for installers) 
This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 



Installation_Murax-Dentel_Flor anchor lock_N°1403 

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 

06/19 p.2 

2 CHC 
M8x55 ZN 

screws 

2 black off-center 
spacers 

1 93x47.5x28 ZN 
steel spacer 

Cylinder 

1 TFZ 
M5x25 ZN 

screw 

Case no. 2 : End-slat without reinforced corner piece 

13,6 mm 72 mm 

Case no. 1 : End-slat with reinforced corner piece  

15,8 mm 72 mm 

For Cases no. 1 and no. 2, use the adhesive drilling template provided with the anchor 
lock (EP1/EP2 model).  

Please note : If reinforced corner piece on the end-slat, attach it first. 
(See installation manual : End-slat reinforcements, delivered in the accessory package). 

Case no. 1 : End-slat with reinforced corner piece  

Assemble the lock on the end-slat. 
 
Put the cylinder in the lock. 

1 

2 



Installation_Murax-Dentel_Flor anchor lock_N°1403 

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 

06/19 p.3 

2 CHC 
M8x30 ZN 

screws 

4 M8 ZN flat  
washers  

Cylinder 

1 TFZ 
M5x25 ZN 

screw 

2 black off-center 
spacers 

Case no. 2 : End-slat without reinforced corner piece 

Assemble the lock on the end-slat. 
 
Put the cylinder in the lock. 

1 

2 

1 

2 

Center the end-slat in the guiding rails. 
 
Trace the axis of the lock on the ground, straight 
down . 
 
Carry out a core drill in the ground, 
Ø60 mm and 85 mm deep. 
 
Use a chemical seal cartridge to seal the base  
into the ground. 

3 

4 

5 

6 

Lower the shutter to the lower position and center 
the base with respect to the lock. 
 
Raise the shutter to the upper position 
and wait for the chemical seal to dry before using 
the floor anchor lock.  

Adhesive must not be removed 
to prevent infiltration of the  
chemical seal. 



Installation_Murax-Dentel_Flor anchor lock_N°1403 

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 

06/19 p.4 

30 mm 

Axle 

Axle 

93 mm 

5
0
 m

m
 

3
7
 m

m
 

        50 mm 28 mm 

8
5
 m

m
 

                 Ø72 mm 

                Ø60 mm 

Axle 

If the end-slat is equipped with a watertight seal or a feeler joint,  
then it will be impossible to install a floor anchor lock on it. 


